TICK|MIN NO.| NEG.
OPEN IF OF DBL. DESCRIPTION RESPONSES SUBSEQUENT AUCTION PASSED HAND BIDDING
ART. | CARDS | THRU
1C Yes 0 4D 4+C UNBAL 11-21, or 12-14 BAL , or STR BAL 22+ / any FG 1D=4+H,0+; 1H=4+S,0+; 1S=noM,0+; 1 NT=5+C, 0+; 1C-1DMH)-1H(S) :2CINV+,2DFG; | 2D =5H-4+C, 8-10;
2C=5+D,0+; 2D=6H,8-11; 2H=6S,8-11; 2S=5+D, 15+ 1C-1D/H-1NT : 2C/D/HISTRF's; 2 H=5S-4+C, 8-10;
2 NT =5+C-5+D, 8-11; 3 m = good 6-cards suit, 8-11. 1C-1D/HISINT-2D=STRBALorFG; |2 NT=6D-4C, 8-10.
1C-1D/H/S/I2C-2NT=STRC. /P:1C-(1NT) -2D/H=5H/S-4+C.
1D 4 4D 4+D UNBAL 11-21, or 4D-5C 11-21 1NT=5+C,5+; 2C=5+D, 10+ or BAL without M, 12+ ; 1D-1H-1NT=4D-5C, 11-17; 1NTBAL,9-11;
2M/3C =6 nice cards, 8-11. 1D-1S-1NT=4+D-4H, 11-17 (18); 2 C=5+cards,59;
1D-1H/SINT-2NT=STRD; 2 H/S =5H/S-4+D , 8-10 ;
1D-2C-2NT=STR(R). 2 NT =5+C-4+D , 8-11.
/P:1D-(1NT) -2D/H=5H/S-4+D.
1H 5 4D 5+H, 11-21 2 C =semi-NAT+ ; 2 S = INV raise 4 trumps, one shortness ; 1H-2C-2D = either NAT, either 6H. .2 C =NV 3-cards H fit or INV'6m suit
3 C = mixed raise 4 trumps ; 3 D = INV raise 3+ trumps. 2D /2 NT=INV 4-cards H fit.
1s 5 4D 5+S (could be 4 cards 3°/4°) , 11-21 1NT=F1,5-14; 2 C = semi-NAT+; 3 C = INV raise 4 trumps, short. m; |1S-1NT-2C =2+cards; 2 C =INV 3-cards S fit or INV 6m suit
3 D = mixed raise 4 trumps or INV raise H shortness ; 1S-2C-2D = either NAT, either 6S. 2D /2 NT=INV 4-cards S fit.
3 H=INV raise 3+ trumps.
1NT 4D BAL (5-cards M or 6-cards m are possible) or 4-4-1-4 , 15-17 2 C=5+D weak, or m's INV+, or 5+cards M FG+; 2D/H=4+MTRF's; | INT-2S-2NT/3C-3D =slam (R);
2 S =INV NT, or 5+C weak or STR , or slam (R) ; 2 NT F1 (for 3 NT) ; 1 NT-2NT-3m =xxorJxin the suit ;
3 C =5+D weak or STR, or FG 3-suiter; 3 D = 6-cards M INV+ ; 1NT-2NT-3M =simple M guard.
3 M = 5+D-4+C-shortness M, FG+; 4C=m's; 4D=M's.
2C Yes 2 4D BAL (a bad 6-cards m is possible) , 18-19 2 D/H =5+cards M TRF's ; 2 S =NT TRF, or STAYMAN , or 5+C FG+; |[2C-2NT-3C-3D =slam (R).
2NT=STR (R); 3C=5+Dweak or STR; from 3 D as over 1 NT.
2D Yes 0 1°/2° : 6-cards H, 6-10 or 6 cards S STR ; 2/3/4 H=PIC, 2 NT =INV+ (R). 2D -2NT -3 C/D shows H.
0 4D 3° : MULTI, 6-cards M, 9-12 or STR ; 2/13H/S-4H=P/C,3C/D=INV+(R), 4C/D= fitM's.
0 4D 4° : MULTI, 6-cards M, 9-12 UNBAL or STR. 2/3H/S-4H=PIC,3C/D=INV+(R), 4CID = fit M's.
2H Yes 0 1°/2° : 6-cards S, 6-10 or 6 cards H STR; 2/3/4 S =PIC, 2 NT =INV+ (R). 2H-2NT-3C/DshowsS.
5 3° 5+cards , 3-8 ;
6 4° 6-cards , no shortness , 10-12. 2 NTINV (R).
2S Yes 5 1°/2° 5S-5+m, 6-10 ; 2NT=INV+(R); 3/4C-4D=PI/C; 3D/H=NATFG.
5 3° 5+cards , 3-8 ; High Level Bidding
6 4° 6-cards , no shortness , 10-12. 2NTINV (R). first or second round control CUE style ;
2NT 4D BAL (5-cards M or 6-cards m are possible) , 20-21 3 C=ROMEX; 3D/H=FGMTRF's (then 3NT =nofit); 3S= m's. serious 3 S (H fit) and serious 3 NT (S fit) may occur ;
3m 6 PRE SPL ;
3M 6 PRE 4 NT Key Cards Blackwood ;
3NT Yes 1°/2° GAMBLING ; exclusion Blackwood ;
3°/4° to play (strong m suit) 5 keys DOPE ;
4m Yes 7 PRE LIGHTNER slam DBL.
4M 7 PRE
4NT | Yes at least 6C-5D
5m 8 PRE




